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BACHELOR OF EDUCATION 

7t. 	Term-End Examination 
N- 
oo 	 December, 2016 
cJ 
0 ES-362 : COMPUTERS IN EDUCATION 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : - 

What is Intelligent Tutoring System ? Discuss its 
role in teaching. 

OR 

Explain the various frame sequencing styles with 
examples. 

2. Answer the following question in about 
600 words : 	• 

What is meant by an instructional objective ? 
Explain the need and importance of instructional 
objectives. Select a topic from your teaching 
subject area and formulate the instructional 
objectives on this topic. 

OR 

What is task analysis ? Discuss its various 
approaches also. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Mention the hardware and software 
features that have made CAI more 
interesting. 

(b) Explain the process of item analysis. 

(c) Distinguish between testing and evaluation. 

(d) In brief, write down the various sections of 
a document. 

(e) Discuss briefly about CPM chart. 

(f) Differentiate between LAN and WAN. 

	

4. 	Answer the following question in about 
600 words. 

'The present situation of poor financial 
management of schools is perhaps due to 
non-implementation of the accounting function 
on the computer.' Do you agree with this 
perspective ? Substantiate your answer with your 
experiences. 
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